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ϭϬ 
 

Yϱ Model Solution ʹ Ϯϱ Marks Marking Notes 
;aͿ 
;iͿ  

 

𝑟𝑜𝑤 2: 𝑆ସହ =
45
2

[14 + 44(5)] = 5265 

𝑟𝑜𝑤 1: 𝑆ସହ =
45
2

[8 + 44(3)] = 3150 

∴ Difference = 2115 

 

 
Scale ϭϬ� ;Ϭ͕ ϰ͕ ϴ͕ ϭϬͿ 
Low Partial Credit: 
&ormulates 𝑆ସହ for row ϭ or row Ϯ 
ϯнϱнϳ ͙ 
Identifies a or r for either row ϭ or row Ϯ 
 
High Partial Credit: 

𝑆ସହ found for row ϭ or row Ϯ 
 

Full credit −1͗ 
&ails to subtract 

 
;aͿ 
;iiͿ 
 

 
𝑇ଵ(in row 60):  𝑇଺଴ = 4 + (60 − 1)3 = 181 

 
𝑇ଶ (in row 60) = 𝑇଺଴  of 7, 12, 17, 22 …. 

𝑇଺଴ = 7 + (60 − 1)5 = 302 

∴ 𝑇଻଴  of 181, 302, … …. 

= 181 + (70 − 1)121 = 8530 

 

 
Scale ϭϬ� ;Ϭ͕ ϯ͕ ϱ͕ ϴ͕ ϭϬͿ 
Low Partial Credit: 
Identifies 𝑇଺଴ in column ϭ or 𝑇଻଴ In row ϭ or 

equivalent 
Some relevant substitution into correct 

formula 
Identifies a or d for either row ϭ or row Ϯ 
 
Mid Partial Credit: 
&inds a in row ϲϬ or row ϳϬ 
&inds d in row ϲϬ or row ϳϬ 
 
High Partial Credit: 
&ormulates substituted expression for 𝑇଻଴  

in row ϲϬ or 𝑇଺଴ in column ϳϬ 
&inds both a and d in row ϲϬ or row ϳϬ 

 
;bͿ  

𝑎ଷ = 𝑎ଶ − 𝑎ଵ = 2 − 4 = −2 
𝑎ସ = 𝑎ଷ − 𝑎ଶ = −2 − 2 = −4 

𝑎ହ = 𝑎ସ − 𝑎ଷ = −4 − (−2) = −2 
𝑎଺ = 𝑎ହ − 𝑎ସ = −2 − (−4) = 2 
𝑎଻ = 𝑎଺ − 𝑎ହ = 2 − (−2) = 4 

𝑎଼ = 𝑎଻ − 𝑎଺ = 4 − 2 = 2 
Therefore, the sequence consists of a  

repeating pattern of  
4,  2, −2, −4, −2,  2 

∴ 𝑎ଶ଴ଵ଺ = 2 (multiple of 6) 
⇒ 𝑎ଶ଴ଵଽ = −2 

 

 
Scale ϱ� ;Ϭ͕ ϯ͕ ϰ͕ ϱͿ 
Low Partial Credit: 

𝑎ଷ = −2 
𝑎ଷ = 𝑎ଶ − 𝑎ଵ  or similar 
 

High Partial Credit: 
Any ϰ from 𝑎ଷ, 𝑎ସ, 𝑎ହ, 𝑎଺, 𝑎଻   and 𝑎଼ found 
 

Full credit −1͗ 
𝑎ଷ, 𝑎ସ, 𝑎ହ, 𝑎଺, and 𝑎ଶ଴ଵଽ found 
 

  


